SN JlE2S
HE: JIS2SAY (LB TTYY /LB HT)
Sl JtE2s 2ol (Sl &)
_ _ _ Muo
SNBSS - HRAY - BHES e HIRZE2
tEs 476,990 475,597 1,393
I S2SAY (LB BBHT /LB HT) 364,708 358,840 5,868
l225 el 122,308 116,440 5,868
Ar2tel 12,400 12,820 2420
201 YEr2gy| 7,400 7,820 ~420
02 B2l 7,400 7,820 2420
OXS R HI 2,000,009 * 1k 2,000
SRRV EEIN 1,500,0002 * 14] 1,500
ooz
24992 2,508 * 8AI2H * Tkcal * 120 2,400
« 104
OWLHE UL RX B4 150,008 * 105 1,500
401 A2 HIL 2O HI 5,000 5,000 0
01 Al& Y] 5,000 5,000 0
OFAH-424TAHOIHIZEN)  5,000,0002 5,000
CEE R 4,878 4,380 498
101 121t 2,199 2,100 9
04 JARBRRE 24 2,199 2,100 99
L P ER=TIEL-! 36,6402 * 1% * 602 2,199
206 T 2 bl 2,679 2,280 399
01 WEHI 2,679 2,280 399
Ot AREY 2,679
—3uR 1,86021 * 200 ¢ 372
-8 1,69021 * 300 ¢ 507
— LA 3,0008 * 600 1,800
PSR 2 5,540 5,460 80
201 YEr2gy| 5,540 5,460 80
02 ZZ2YH| 5,540 5,460 80
ORorS42aldl 50,0002 * 2775 * 40/100 5,540
2ETAS ALY 21,980 16,270 5,710
101 2121t 15,830 15, 120 710
VPR EEP TP 15,830 15, 120 710
OS2YLHLEH IS
36,6409 * 3% « 182 « 33 5,936
ONEREICREHIIALY
36,6402 + 10 * 42 * 23] 2,932
OZETASAY(BL, TZN22))2Y
36,6402 * 5% * 202 * 1] 3,664
OZDEIHLHAT L A2 22
36,6409 * 3% * 302 + 1] 3,298
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SN ObE2s

HH: JIS2SAIY (YYD THE/LUHH)
Eel: JtE2s 22l (cte: &
S - FHZH O (FH) - NEAY - BHy2 Al OH &EIE Hmn=2
SN HH . GA(BH) - NEAY - B2 Sh Ofl & o e
201 LBt A | 100 100 0
01 AFR 22l 100 100 0
OOz D142l]
100,000& = 2CH = 13| = 50/100 100
206 X 2H] 6,050 1,050 5,000
01 H2HI 6,050 1,050 5,000
OJI23e ¥ sterael 1,050
—HEGHUMAMPY 10,0008 * 55 * 33 150
—gHLH 27 5,0008 * 20X * 23| 200
—JIEtRYE R 10,0008 * 5& * 23] 100
—ZERATHER Y
20,0002 * 15& * 23 600
OSHE SMQ= CHEHM 2112 ATHAIY
10,0008 * 500 5,000
DIREX| J|BF2t 5} 77,510 77,510 0
301 YBtE A2 77,510 77,510 0
05 E -2 - BEESsEA3 73,730 73,730 0
OEHSEZAZ 68,880
—J|=2xg 200,0002 * 219 » 129 50,400
—&N3 200,000 * 21 * 23] 8,400
— 3|0 &t Al g
20,0002 * 219 * 128 x 23] 10,080
Opt&ssgEAZ 25,0009 * 979 23| 4,850
10 #ALAH B AR 3,780 3,780 0
OXALAEEH 5 S5 o & A XS A
5,0008 » 63 * 12¢ 3,780
AFD =DIHOALS 242,400 242,400 0
AFD Z=QIEHO ALY 242,400 242,400 0
401 Al &Y 220y 242,400 242,400 0
01 Al&dH] 240,000 240,000 0
OARSTOEHAALY 240,000,000 * 14! 240,000
03 Al& 20l 2,400 2,400 0
OARZZOIHAAS Al A L
240,000,0008 * 1/100 2,400
HHSHHH|(IIE25 ) (JIEHIIE) 112,282 116,757 A4, 475
ol 2| 31,408 28,993 2,415
ol 2| 31,408 28,993 2,415
101 Q1 244| 31,408 28,993 2,415
01 22 31,408 28,993 2,415
OAlZtelaRsd
8,0782 » 93 * 36AI2+ » 12€ 31,408
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2N OHE2S
Mo #Y SR (01523) OIEHIIE
el = (el @R
_ _ _ N E
SNBSS - MBAY - BES 0 & 24 G {imE=Eh
Jl=34l 80,874 87,764 6,890
Jl=&Hl 80,874 87,764 A6,890
201 L2 34,214 31,854 2,360
01 At 22l 23,044 21,854 1,190
OLAL2 EM7EH 50,000& 128 600
ONREE(SAMBTI (M) 2L
13,000& * 92FA « 128 1,404
Ogasd 13,300
—=Z 30,000& * 18 = 250€ 7,500
—2X 50,000& » 1& » 116¥ 5,800
OE20AlHl 5,000& = 341 » 9F » 123 1,620
Ogitsg 100,000& = 128 1,200
OJIEtAIR EZHI 5,000& = 99 « 128 540
OLA2s4H] 4,380
—PC==cl 100,000& * 9H * 20/100 180
— DRI (2%)42)
100,000& = 2CH * 50/100 100
— =S A ==2l 500,000& * 104 500
—OE(SHM)EH  200,0008 * 53] = 2CH 2,000
—ZSAIJIEY 200,000& = 53 = 1CH 1,000
—J|Et==clHl 50,000& » 123 600
02 33&4H 11,170 10,000 1,170
OZZR3UHA 1,170
—RER3 150,000& = 123 1,800
—EHMNEILB(SHAL 450,000& * 128 5,400
—HAIIQB(FOURME)
200,000& = 123 2,400
—HHECCTVEIIR=  5,000& = 80H » 128 480
—&ot=ZAIERE 50,000& » 123 600
—AMESEZNERE S 70,000& * 23l 140
—Z3t XA 150,000& = 13 150
- B2 100,000& = 23 200
202 O4H| 30,150 30,150 0
01 = LHAObI 3,150 3,150 0
O=WxHI 70,000& » 9H = 5 3,150
02 2 M0t 27,000 27,000 0
O HAH 250,000& = 9% » 128 27,000
203 ¥Rl 9,960 9,960 0
01 D/ 22d R FaH| 6,600 6,600 0
OJI 22 L= 6,600,000& » 1H 6,600
02 Rt H 2= AH 360 360 0
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SN OlE2s
w2 AR (O22S)(IEHIIE)
eI CEEREED
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &k il b o bRz
SEEPEEET] 40,0002 = 9% 360
04 ENEYYREEH| 3,000 3,000 0
ORASYLREY) 250,0008 * 128 3,000
204 X248 2| 1,800 1,800 0
01 HEZ YR LAY 1,800 1,800 0
ONMIHRL A (125 H)
50,0002 * 1% « 122 1,800
405 T+ 3 S| 4,750 14,000 £9,250
01 AU SBHSH) 4,750 14,000 £9,250
OYRBOXELIHH - SHRY)
350,000 * 1CH 350
OSMESI(=BHATY) 400,002 * 10k 400
Oslolg SRR (= EHHT7Y)
200,0002 * 2004 4,000
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